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Don’t settle for Average.
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Ranking test (Day 1) Zero to Hero Batch

Q.In arow, Amit is 12th from left end and 18th from right end. How many persons are
thereinarow?
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Ranking test (Day 1) Zero to Hero Batch

Q. In a row of girls , Lalita is 16th from the top and 22th from bottom. How many girls to be
included so that the number of girls become 45 ?
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Ranking test (Day 1) Zero to Hero Batch

Q. Examination was conducted in a class. Rajesh is 21st from first end and 21st from the last end in the row of
pass students in exam. If 11 students absent in a class of examination day and 8 students are failed in exam.
How many students are there in a class ?
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Ranking test (Day 1) Zero to Hero Batch

Q. In a row of girls student , Neha is 15th from left end and Priya is 10th from right end in that row. If both of
students interchange their places then Neha will be 25th from the left end. How many girls student are there

inarow?
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Ranking test (Day 1) Zero to Hero Batch

Q. In a row of student, Daya is 16th from top and Dimple is 12th from bottom. If both of students
interchange their places then Dimple will be 14th from the bottom. How many student are there in a row

?
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Ranking test (Day 1) Type 3 Zero to Hero Batch
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Q. In a row of student, Amitis 12th from the left end and Sachin is 12th from the right end . If 8 students in
between both of them. How many student are thereinarow?
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Q. In a row of girls , Mahak is 14th from the left end and kajal is 20th from the right end . If 5 students in
between both of them. How many student are there ina row ?

. PP IR T TEP I BR T 1438 WM W ¢ 3R Fod 3¢ IR I 208 WA W 21 afe
g”-l & 99 5 B 21 U Ufea | fba faemdf &2

mih. 3 May. - (miqx2+2)
Mey. 3 ATBT 013-/ — ) (5 2/”7’)
2) 39 - (5~

141 2°1 S
4 2 3.1k

= j_____9 ] ""‘/(wlj o, iﬂ%__



Ranking test (Day 1) Zero to Hero Batch
6-2L IV f 19
Q. In a row of boys , Hemant is 9.‘,'} from the top and Mohan 18th from the bottom. If 5 boys in between both
of them. How many boys in that row ?
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Note --- In a case of minimum students middle number should be not be
greater than smaller number.
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